Grade 8 Math In—Class Assignment Unit 1
Squares and Square Roots

Name:

Sections 1.1-1.4

Selected Response. Place the letter of the best response in the blank to the left.  [10 marks]

1. Which number is a perfect square?
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2. The length of one side of a square is 9 cm. What is the area of the

square, in cm??
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What is the square root of 9?
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4. What is the length of one side of the square below?

(B)
(C)

245 m
28 m
98 m

Side \en3+h Areo

M
2 Im

Area = 49 m?




What is the square of 4?
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What is V64 ?
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What is the square root of 15%? ,{\?l: ﬁ;&-(g
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The factors of 4 different numbers are listed below. Which number is a
perfect square?

(A {1,2,3,4,6,12) A @erced SE\UO.TQ has

(B) {1,2,4,38, 16, 32}

an odd i of Qac’rovs.

(D) {1,2,4,5, 8, 10, 16, 20, 40, 80}

Which is the best estimate of V467
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10. Between which 2 consecutive whole numbersis v71
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(D) 9and 10

Section 2 — Show all workings.

11. Use a diagram to show why 36 is a perfect square. [2 marks]
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12. Solve: [6 marks]
av3s- (p 5. vi71- | eVi = |
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13. Identify a whole number that has a square root between 4 and 5. Explain how you got
[2 marks]

3 So any +# helween 16 and a% will have o
(1)%16 Stuare voot between Yond 3

(5)= 45

your answer.

Samplc Answer 15 30
Since39 - 45 anich is betuween and



14. Est|mate>/ 3 to one decimal place. Explain your answer. [2 marks]
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15. Order from least to greatest. Show all workings. [2 marks]
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16. A large square classroom has an area of 169 m?.

A. What is the length of one side? [2 marks]

Sde \eng'ih =\ Area

=169
=\3Im

B. What is the perimeter of the room? [1 mark]

Perimeter = d xside length
=UxI3
> 2

17. John estimated the square root of 75 to be 8.3. Jill estimated the square root of 75 to be
8.7. Who had the better estimate? Explain. [3 marks]
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